
ØÆ²êÜ²Î²Ü øÜÜàôÂÚàôÜ 
 

2012 
 
 
 
 
 
 
 
 
 
 

²Ü¶ÈºðºÜ 
 
 
 
 

Âºêî 6 
 

 
ÊÙµÇ Ñ³Ù³ñÁ 

 
Üëï³ñ³ÝÇ Ñ³Ù³ñÁ 

 
 
 

 
 
 
 
 
 
 
Ð³ñ·»ÉÇ° ¹ÇÙáñ¹ 
 

²é³ç³¹ñ³ÝùÝ»ñÁ Ï³ï³ñ»ÉÇë Ûáõñ³ù³ÝãÛáõñÇó å»ïù ¿ ÁÝïñ»É ³ÛÝ ï³ñµ»ñ³ÏÁ, 
áñÁ Ò»ñ Ï³ñÍÇùáí ×Çßï å³ï³ëË³ÝÝ ¿, ¨ å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃÇ Ñ³Ù³å³ï³ëË³Ý 
Ù³ëáõÙ Ï³ï³ñ»É ÝßáõÙ: 

ÊáñÑáõñ¹ »Ýù ï³ÉÇë ³é³ç³¹ñ³ÝùÝ»ñÁ Ï³ï³ñ»É Áëï Ñ»ñÃ³Ï³ÝáõÃÛ³Ý: àõß³¹Çñ 
Ï³ñ¹³ó»°ù Ûáõñ³ù³ÝãÛáõñ ³é³ç³¹ñ³ÝùÇ å³Ñ³ÝçÁ ¨ å³ï³ëË³ÝÝ»ñÇ ³é³ç³ñÏíáÕ 
ï³ñµ»ñ³ÏÝ»ñÁ: ºÃ» Ò»½ ãÇ Ñ³çáÕíáõÙ áñ¨¿ ³é³ç³¹ñ³ÝùÇ ³ÝÙÇç³å»ë å³ï³ëË³Ý»É, 
Å³Ù³Ý³ÏÁ ËÝ³Û»Éáõ Ýå³ï³Ïáí Ï³ñáÕ »ù ³ÛÝ µ³ó ÃáÕÝ»É ¨ ¹ñ³Ý ³Ý¹ñ³¹³éÝ³É ³í»ÉÇ 
áõß: 
 

Ò»ñ ³éç¨ ¹ñí³Í Ã»ëï-·ñùáõÛÏÇ ¿ç»ñÇ ¹³ï³ñÏ Ù³ë»ñÁ ³½³ïáñ»Ý Ï³ñáÕ »ù 
û·ï³·áñÍ»É ë¨³·ñáõÃÛ³Ý Ñ³Ù³ñ: Â»ëï-·ñùáõÛÏÁ ãÇ ëïáõ·íáõÙ: êïáõ·íáõÙ ¿ ÙÇ³ÛÝ 
å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃáõÕÃÁ: 

²é³ç³¹ñ³ÝùÝ»ñÁ  Ï³ï³ñ»Éáõó Ñ»ïá ãÙáé³Ý³ù å³ï³ëË³ÝÝ»ñÁ áõß³¹Çñ ¨ 
ËÝ³Ùùáí Ýß»É å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃáõÙ: ä³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃÇ ×Çßï Éñ³óáõÙÇó ¿ 
Ï³Ëí³Í Ò»ñ ùÝÝ³Ï³Ý ÙÇ³íáñÇ ×ßïáõÃÛáõÝÁ: 
 

ò³ÝÏ³ÝáõÙ »Ýù Ñ³çáÕáõÃÛáõÝ: 
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Level A 
 

I. Կարդալ տեքստը և պատասխանել հարցերին՝ ընտրելով ճիշտ տարբերակը: 
              Read the text and answer the questions choosing the right option. 

 
1. American jazz is a conglomeration of sounds borrowed from such varied sources as American and  
2. African folk music and Christian gospel songs. One of the recognizable characteristics of jazz is its use  
3. of improvisation: certain parts of the music are written out and played the same way by various  
4. performers, and other improvised parts are created spontaneously during a performance and vary  
5. widely from performer to performer.  
6. The earliest form of jazz was ragtime, lively songs or rags performed on the piano, and the best- 
7. known of the ragtime performers and composers was Scott Joplin. Born in 1868 to former slaves,  
8. Scott Joplin earned his living from a very early age playing the piano in bars along the Mississippi. One of  
9. his regular jobs was in the Maple Leaf Club in Sedalia, Missouri. It was there that he began writing  
10.  more than 500 compositions that he was to produce, the most famous of which was “The Maple  
11.  Leaf Rag.” 

 
This passage is about 
 
a) the major characteristics of jazz 
b) jazz in general and one specific type of jazz 
c) the various sources of jazz 
d) the life of Scott Joplin 
 
The word “conglomeration” in line 1 could best be replaced by 
 
a) treasure 
b) disharmony 
c) mixture 
d) purity 
 
In line 3, the word “improvisation” involves which of the following? 
 
a) playing a varied selection of musical compositions 
b) playing the written parts of the music 
c) performing similarly to other musicians 
d) making up music while playing 
 
 According to the passage, ragtime was 
 
a) performed only at the Maple Leaf Club in Sedalia 
b) generally performed on a  variety of instruments 
c) the first type of jazz 
d) extremely melancholic and sad  
 
Which of the following statements is true according to the passage? 
 
a) Scott Joplin’s parents were slaves when Scott was born. 
b) Scott Joplin was a slave when he was born 
c) Scott Joplin’s parents had been slaves before Scott was born 
d) Scott Joplin had formerly been a slave, but he no longer was after 1868 

 

1 

2 

3 

4 
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XII  Գտնել ավելորդ բառը: 
      Find the odd word. 

 
In the 1800’s botanist Asa Fray worked to describe and classify the plants were  found in 
North America.  

 
a) found 
b) were 
c) worked 
d) botanist  
 
In spite of though all the hard work she was made to do, Cinderella never complained to her 
father. 

 
a) In spite of 
b) to  
c) was 
d) though 
 
While in some parts of the world it is jewelry that indicates high economic status, in the 
others, it is fur coats. 

 
a) while 
b) economic 
c) the  
d) is  
 
The most common question that people ask a fiction writer is whether or not he has been 
experienced what he has written about. 

 
a) that 
b) is  
c) whether or not 
d) been 
 
In ancient times and throughout the Middle Ages, most of people believed that the earth was 
motionless. 

 
a) that 
b) ancient 
c) throughout 
d) of 
 
John Chapman became so famous in American folklore as “John Appleseed” after he had 
planted apple trees throughout the northeastern part of the United states. 

 
a) after 
b) so 
c) the 
d) as 

 

75 

76 

77 

78 

79 

80 
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XI  Կարդալ տեքստը և ընտրել բովանդակությանը համապատասխանող բառը: 
    Read the text below and choose the word that best fits each space. 
 
Do you ever wish you were more optimistic, someone who always expected to be successful? 
Having someone around who always (69)__________ the worst isn’t really a lot of fun - we all 
know someone who sees a single cloud on a sunny day and says, “ It looks like rain.” But if you 
catch yourself thinking such things, it’s important to do something about it. 
You can change your view of life, according to psychologists. It only takes a little effort, and you’ll 
find life more rewarding as a (70)____________. Optimism, they say, is partly about your self-
respect and confidence but it’s also a more positive way of looking at life and all it has to offer. 
Optimists are more (71)_________ to start new projects and are generally more prepared to take 
risks. Upbringing is obviously very important for forming your (72)_________ to the world. Some 
people are brought up to (73)________ too much on others and grow up forever blaming other 
people when anything goes wrong. Most optimists, on the (74)__________ hand, have been brought 
up not to regard failure as the end of the world-they just get on with their lives. 

 
 
 

a) worries 
b) troubles 
c) fears 
d) cares  
 
 
 

a) result 
b) reason 
c) purpose 
d) product 
 
 
 

a) possible 
b) likely 
c) welcome 
d) hopeful 
 
 
 

a) view 
b) opinion 
c) position 
d) attitude 
 
 
 

a) hope 
b) trust 
c) depend 
d) believe 
 
 
 

a) other 
b) next 
c) opposite 
d) far 

69 

70 

71 

72 

73 

74 
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II.  Տեքստում բաց են թողնված նախադասություններ: 
Լրացնել տեքստը՝ տեղադրելով համապատասխան նախադասությունը: 
Fit the missing sentences into the numbered gaps of the following text. 

 

When we are children, our siblings- (6)________________. At the end of life, they are often our 
oldest friends and oldest enemies. The effect of sibling relationships in childhood can last a lifetime. 
Many experts say that the relationship among brothers and sisters explains a great deal about family 
life, especially today when brothers and sisters often spend more time with one another than with 
their parents.  
(7)______________. Sister pairs are the closest. Brothers are the most competitive. Sisters are 
usually more supportive of each other. They are more talkative, frank, and better at expressing 
themselves and sharing their feelings. (8)________________. Experts agree that the relationship 
among siblings is influenced by many factors. For example, studies have shown that both brothers 
and sisters become more competitive and aggressive (9) _________________. But parental 
treatment is not the only factor. Genetics, gender, life events, people, and experiences outside the 
family all shape the lives of siblings. Recently, one researcher demonstrated another factor in 
sibling relationships. It was discovered that children dislike watching their siblings fight.  
(10)_________________-supporting one sibling and punishing the other. 
 

 
 
   

a) that is, sibling relationships are among the most important relationships in life. 
b) that is, our brothers and sisters- are our first friends and first enemies. 
c) that is, some siblings have good relationships, but other siblings have bad relationships. 
d) that is, siblings are our oldest friends in life. 

 
  
 

a) Siblings spend a lot of time together because they have to. 
b) Studies have shown that sisters get along better with their sisters than with their brothers. 
c) Studies have shown that sibling relationships between sister-sister pairs and brother-

brother pairs are different. 
d) Females and males generally have different relationships. 

 
 
  

a) On the other hand, brothers hate their sisters. 
b) On the other hand, brothers are usually more competitive with each other. 
c) On the other hand, sister-brother pairs are the most competitive. 
d) On the other hand, children avoid arguments that their siblings have. 
 
 
 

a) when their parents don’t support them. 
b) when their parents punish them. 
c) when their parents get along better. 
d) when their parents treat them even a little bit differently from one another. 

 
 
 
a) In fact, they respond to arguments by taking sides. 
b) In fact, siblings support their brothers in an argument. 
c) In fact, there are many causes of good and bad sibling relationships. 
d) In fact, siblings hate to fight. 
 

6 

7 

8 

9 

10 
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III. Ընտրել ճիշտ բայաձևը: 
Choose the right verb form. 

 

In future, astronauts (11)__________ to leave the spaceship while it is still in space and to 
return to it. The spaceship “Astra” which (12)_________ the Earth a short time ago will be 
travelling there hundred miles into space. The first message is expected to arrive at 7 o’clock 
this evening. By that time, the “Astra” (13)________ through space for seventeen hours. 
 

 
 

a) will be requiring 
b) are require 
c) are requiring 
d) will be required 
 

 
 

a) was leaving 
b) has left 
c) left 
d) had left 
 

 
 

a) will circle 
b) has been circling 
c) will be circling 
d) will have circled 

 

An accountant and a sports coach (14)________ a small shoe company called Blue Ribbons in 
1964. In 1971 it changed its name to Nike, and since then it (15)_________ one of the world’s 
most successful brands. Originally Nike was only associated with basketball but recently it 
(16)____________ into new markets like football. Now Nike has started buying other fashion 
brands that (17)_________ with sport. 

 
   

a) had started 
b) started 
c) has started 
d) was starting 
 
  
 

a) becomes 
b) had become 
c) become 
d) has become 
 
  
 

a) has expanded 
b) is expanding 
c) had expanded 
d) expands 
 
 

  
 

a) were not been connected 
b) don’t connect 
c) are not connecting 
d) are not connected 

11 

12 

13 

14 
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16 
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X.  Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 
    Choose the right completion.  

 

Most of the older civilizations which flourished during the fifth century BC ____ 
  
a) they had died out  
b) they have died out  
c) has died out  
d) have died out 
 

____the end of the Ice Age around 8000 B.C., mammoths became extinct.  
 

a) In addition to 
b) With 
c) It was 
d) That 
 
A bat will often spend the daylight hours  _____ upside down in a tree or cave. 
 

a) hangs 
b) hanging 
c) which hangs 
d) that is 
 
A hero of the war of 1812, _____ president of the United States. 
 

a) later became Andrew Jackson 
b) that Andrew Jackson later became  
c) Andrew Jackson later became 
d) who was Andrew Jackson 
 
____ in Japan as after that terrible earthquake. 
 

a) No sooner had the situation been so serious 
b) Never the situation was so serious 
c) Not only was the situation so serious  
d) Never was the situation so serious 
 
In Prehistoric ______ of western Utah was covered by Lake Bonneville. 
 

a) large parts of time 
b) times, a large part 
c) times, there was a large part 
d) times, it was a large part 
 
She behaves _____ she were the boss of the company and the staff obeys her humbly. 
 

a) as 
b) as though 
c) as long as 
d) even though 
 
He is learning English _____ he can get a better and more interesting job. 
 

a) as soon as 
b) when 
c) so that 
d) although 

61 

62 

63 

64 

65 

66 

67 

68 
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The pronoun “they” in line 7 refers to 
 

a) educational opportunities 
b) Oxford and Cambridge universities 
c) university graduates 
d) sons 
 

The “pounds” in line 9 are probably 
 

a) school campuses  
b) types of books 
c) college students 
d) units of money 
 

The “English cousin” in line11 refers to a 
 

a) court 
b) city 
c) relative 
d) person 
 

Which of the following is NOT mentioned about John Harvard? 
 

a) how much he bequeathed to Harvard 
b) what he died of 
c) where he came from 
d) where he was buried 
 
The passage implies that 
 

a) The position of president of Harvard was not merely an administrative position in the 
early years 

b) Henry Dunster was an ineffective president 
c) Someone else really served as president of Harvard before Henry Dunster 
d) Henry Dunster spent much of his time as president managing the Harvard faculty 
 

The word “somewhat” in line 21 could best be replaced by 
 

a) more or less 
b) back and forth 
c) to and fro 
d) side by side 
 

Where in the passage does it indicate how much money Minister Harvard was really 
responsible for giving to the university? 

 

a) lines 19-22 
b) lines 3-7 
c) lines 9-12 
d) lines 14-16 
 

54 

55 

56 

57 

58 

59 

60 
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I felt surprised, then happy, then doubtful all in one split second when I found out I 
(18)_________ to be a star in the school play. My voice (19)_________ so I looked full of 
confidence, but in fact, I was very nervous. When the notice was published, everyone 
congratulated me. I knew I (20)_______ the golden star I had dreamed about for years. 

 
 
 
a) had been chosen 
b) had chosen 
c) would choose 
d) have chosen 
 
  
 

a) isn’t trembling 
b) wasn’t trembled 
c) didn’t tremble 
d) hasn’t trembled 
 
 
  
a) will be awarded 
b) was awarding 
c) had awarded 
d) would be awarded 

 
IV  Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 
     Choose the appropriate option. 

 
“Would you like some hot coffee or tea?” 
“I do like them ________, but I’d rather have something cold.” 

 

a) too 
b) either 
c) neither 
d) both 
 

“My hat is the same colour ______ yours.” 
“Yes, but the style is quite different.” 

 

a) than 
b) as 
c) like 
d) unlike 
 

“How about going to the theatre?” 
“OK, but I would rather __________ a concert.” 

 

a) have attended 
b) attend 
c) to attend 
d) attending 

18 

19 

20 

21 

22 

23 
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“What do you think about the project I introduced at the meeting yesterday?” 
“To tell the truth the more I thought about it ________ I liked it. I think I’ll vote against it.” 

 

a) the less 
b) the more 
c) the least 
d) less 
 
“Is Jane good at driving?” 
“Yes, but when she came to Britain, she had to get used_____ on the left.” 

 

a) to be driving 
b) driving 
c) to drive 
d) to driving 
 
“Do the drills help to master these structures?” 
“Surely, they do, but they are __________.” 

 

a) such a boring 
b) such boring 
c) so bored 
d) so boring 
 
“Oh! You have got many letters today.” 
“That’s strange, I don’t usually get ______.” 

 

a) many mails 
b) much mail 
c) many mail 
d) a lot of mails 
 
“Bob runs fast, and so does Jack.” 
“Yes, Bob runs ____________Jack.” 

 

a) as fastly as 
b) not so fast as 
c) so fast as 
d) as fast as 
 
“Did you fail the examination again?” 
“I __________ but I had no luck.” 

 

a) hard worked 
b) hardly worked 
c) worked hard 
d) worked hardly 
 
 “Will you lend me some money?” 
 “If you go on spending money on worthless things, I’ll stop _______ you any money” 

 

a) being lent 
b) to lend 
c) to lending 
d) lending 

 

24 

25 

26 
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Level B 
 
IX.  Կարդալ տեքստը և պատասխանել հարցերին՝ ընտրելով ճիշտ տարբերակը: 
       Read the text and answer the questions choosing the right option. 
 

1. Harvard University, today recognized as part of the top echelon of the world's                             
2. universities, came from very inauspicious and humble beginnings. This oldest of              
3. American universities was founded in 1636, just sixteen years after the Pilgrims landed at 
4. Plymouth. Included in the Puritan emigrants to the Massachusetts colony during this        
5. period were more than 100 graduates of England's prestigious Oxford and Cambridge     
6. Universities, and these university graduates in the New World were determined that their 
7. sons would have the same educational opportunities that they themselves had had.            
8. Because of this support in the colony for an institution of higher learning, the  General      
9. Court of Massachusetts appropriated 400 pounds for a college in October 1636 and early 
10. the following year decided on a parcel of land for the school; this land was in an area    
11. called Newetowne, which was later renamed Cambridge after its English cousin and is 
12. the site of the present-day university. When a young minister named John Harvard, who 
13. came from the neighboring town of Charlestowne, died from tuberculosis in 1638, he   
14. willed half of his estate of 1,700 pounds to the fledgling college. In spite of the fact that 
15. only half of the bequest was actually paid, the General Court named the college after the 
16. minister in appreciation for what he had done. The amount of the bequest may not have 
17. been large, particularly by today's 15.standards, but it was more than the General Court 
18. had found it necessary to appropriate in order to open the college. Henry Dunster was 
19. appointed the first president of Harvard in 1640, and it should be noted that in addition 
20. to serving as president, he was also the entire faculty, with an entering freshman class of 
21. four students. Although the staff did expand somewhat, for the first century of its        
22. existence the entire teaching staff consisted of the president and three or four tutors. 
 
The main idea of this passage is that 
 
a) Harvard University developed under the auspices of the General Court of Massachusetts 
b) Harvard is one of the world’s most prestigious universities 
c) what is today a great university started out small 
d) John Harvard was key to the development of a great university 
 
The passage indicates that Harvard is 
 
a) the oldest university in America 
b) one of the oldest universities in the world 
c) the oldest university in the world 
d) one of the oldest universities in America 
 
 

It can be inferred from the passage that the Puritans who traveled to the Massachusetts 
colony were 

 

a) rather undemocratic 
b) rather well educated 
c) rather rich 
d) rather supportive of the English government 

51 

52 

53 
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VIII. Նշել, թե հետևյալ հարցերից որոնք են քերականորեն ճիշտ: 
Which of the following questions is grammatically correct? 
 
Which is the best question for the following sentence? 
No, but he is going to buy it next year. 

 
a) Didn’t he buy a house last year? 
b) Is he going to buy a house next year? 
c) When is he going to buy a house? 
d) Isn’t he going to buy a house next year? 
 
Which is the best question for the underlined part ? 
She couldn’t remember where she had left her bag. 

 
a) When couldn’t she remember? 
b) What couldn’t she do? 
c) What couldn’t she remember?  
d) Why couldn’t she remember?  
       
 Which of the following questions is correctly formulated? 
 
a) Did John tell you what he is going to do at the weekend?  
b) Did John tell you what was he going to do at the weekend? 
c) Did John told you what he was going to do at the weekend? 
d) Did John tell you what he was going to do at the weekend? 
 
Which is the best ending for the following question? 
He could hardly take up that job,____________? 
 
a) didn’t he? 
b) couldn’t he?  
c) could he? 
d) did he? 

 

47 

48 

49 

50 
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V  Ընտրել համատեքստին համապատասխանող ձևը: 
    Fill in the blanks with the best choice. 
 

Tests are a yardstick. Schools use them to measure, and then improve education. Some tests 
indicate that schools (31) ------ to strengthen courses or change teaching techniques. Other 
tests compare students by schools, school districts, or cities. Tests (32) ----- determine how 
well your child is doing. That’s very important. 
Most of (33)  ------- tests your child will take are “teacher-made”. That is, (34)----- teachers 
design them. These tests are associated (35) ------- the grades on report cards. They help 
measure a student’s progress, telling the teacher and student whether he or she is keeping up 
(36) ------- the class, needs extra help or, perhaps, is far ahead of the other students. 
 
 
 
a) must 
b) can 
c) need 
d) had 
 
 
 
a) may have 
b) can 
c) would 
d) has to 
 
 
 
a) a 
b) – 
c) the 
d) that 
 
 
 
a) – 
b) a 
c) an 
d) the 
 
 
 
a) up 
b) an 
c) with 
d) to 
 
 
 
a) in 
b) with 
c) to 
d) of 

 

31 

32 

33 

34 

35 

36 
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VI  Ընտրել համատեքստին համապատասխանող խոսքիմասային ձևը: 
     Fill in the blanks with the word form that best fits each space.  
 

A (37)_____________ lighthouse is a structure from which light is projected at night, or 
which serves as a marker by day, to guide ships sailing in coastal waters.  
Lighthouses are constructed at important points on a coastline, at (38)__________ to 
harbours, on rocky reefs on islands and even in the water. Lighthouses help identify a ship’s 
location, warn ships of (39)___________ hazards and notify them that land is (40) _______ . 
A lighthouse includes living quarters for a lighthouse keeper. Today, however, most 
lighthouses use automatic electric lights that do not (41)___________a full-time resident 
operator. 

 
 
     

a) commoner      
b) commonly      
c) common      
d) commonness     

      
 
 
 
a) entered 
b) enter 
c) entrant 
d) entrances 
 
 
 
a) potent 
b) potentially 
c) potential 
d) potency 
 
 
 
a) near 
b) nearer 
c) nearly 
d) nearness 
 
 
 
a) requiring 
b) requirement  
c) require 
d) required 

 

37 

38 

39 

40 
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VII.  Նշել, թե ուղղակի խոսքի փոխակերպման որ տարբերակն է ճիշտ: 
        Which of the options provided is the best choice for reported speech? 

 
 “If I had any time, I would settle the problem,” said Tina. 
 
a) Tina said that if she had any time she would settle the problem. 
b) Tina said that if she had had any time she would settle the problem. 
c) Tina said if she had any time she settled the problem. 
d) Tina told to me that if she had had any time she would have settled the problem. 
 
 “Let’s stay here till the rain stops,” Jim said. 
 
a) Jim suggested staying there till the rain stopped. 
b) Jim suggested to stay here till the rain stopped. 
c) Jim suggested staying here till the rain stops. 
d) Jim suggested to stay there till the rain stopped. 
 
 “Lucy, would you like me to bake a cake for your birthday party?” Ann said. 
 
a) Ann asked if she will bake a cake for Lucy’s birthday party. 
b) Ann said she was going to bake a cake for Lucy’s birthday party. 
c) Ann asked Lucy if she wanted her to bake a cake for her birthday party. 
d) Ann wanted to know if she had baked a cake for Lucy’s birthday party. 
 
 “If I lose my brother’s cheques, will the bank repay me?” I said. 
 
a) I asked if the bank would repay me if I lose my brother’s cheques. 
b) I asked whether would the bank repay me if I lost my brother’s cheques. 
c) I wondered whether the bank would repay me if I lost my brother’s cheques. 
d) I wanted to know if the bank will repay me if I lost my brother’s cheques. 
 
Mike asked Helen to give him one more chance to prove it. 
 
a) Mike said to Helen: “I will give you one more chance to prove it.” 
b) Mike said: “Helen must give me one more chance to prove it.” 
c) Mike said: “Can Helen give me one more chance to prove it?” 
d) Mike said: “Helen, please, give me one more chance to prove it.” 

 

42 

43 

44 

45 

46 


